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Question 1
03003300 338@330 oS'OSdBoob 63330°b 53600@960
r?—3x+5, <1

flzy=<z-2, l<x<2
2z + 1, T > 2

Select one:

a. 1?2

b. 4

c. 1

d. 683860@b ggé@oq:abo NS od3b

Question 2

03(‘0380’) UsnsdBOOb 60b®(‘080, CDU

2 =3zx+2 <1
flz) = - |

T — D, r>1

Select one:
a. 4
b. 1
c. -4
d.3

Question 3
(1 3565390l o 360dgbgemmdolomgal ogbgds f(’}l‘!) ognbgi3o ¥6y39he, oy

2 r
ar+r—5 <2
flx) =
x—1, T > 2

Select one:
a. 1
b. 3
c. 2
d. 4

Question 4


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=f(x)=\begin{cases}x^2-3x+5, & x \le 1 \\x-2, & 1< x \le 2 \\2x+1, & x>2 \end{cases}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=f(x)=\begin{cases}x^2-3x+2, & x \le 1 \\x-5, & x>1 \end{cases}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=a
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=f(x)
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=f(x)=\begin{cases}ax^2+x-5, & x \le 2 \\x-1, & x>2 \end{cases}
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In{l+sinl8x)

lim tebx

39dmmgoemgo Bgoto n—+)
Select one:

a. 1

b. 2

c. 4

d.3

Question 5

lim (1 + =1_.)3=1

Select one:
a. e¢
b. e
c. et

d. e’

Question 6

. £
lim(1 + 6x)=
3°8m°°3°@8°° 8@306)0 )

Select one:

S EZD
b. 26
24

o

23
d.

Question 7
pl_0y8
2rl—dx

lim
393mmgommgm Bmgoto T—+2
Select one:

a. 1
b. 2
c.0
d.3

Question 8
4 3 v
lim Bx'—Ax —rld
393mmgommgm 3mgoto T—+oe Azt —z+3

Select one:

a. 1


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\lim \limits_{n\to 0} {\frac{ln(1+sin18x)}{tg6x}}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\lim \limits_{x\to \infty}(1+\frac{4}{2x+4})^{3x-1}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\lim \limits_{x\to 0} (1+ 6x)^{\frac{4}{x}}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=e^{25}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=e^{26}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=e^{24}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=e^{23}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\lim \limits_{x\to 2} {\frac{x^4-2x^3}{2x^2-4x}}
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=\lim \limits_{x\to \infty} {\frac{8x^4-4x^3-13}{4x^4-x+3}}
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Question 9

godmamgoemge f'(3), oy f(Xx)=4x>-6x>+5x-1
Select one:

a. 71

b. 72

c. 77

d. 74

Question 10

Select one:
a. 4
b. 3
c.2
d. 1

Question 11

godmmgoemgo ' (1), oy f(Xx)=2x*-3x°+5x°-x+3
Select one:

a. 12

b. 16

c. 13

d. 14

Question 12

Select one:
a. 4
b. 1
c. 3
d. 2


http://testing.gtu.ge/filter/tex/displaytex.php?texexp= f'(\frac{\pi}{2})

